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The Actual Question Paper Contains
50 Questions. The duration of the
Test Paper is 60 Minutes.

A CMOS can maintain its configuration settings due
to .
The BIOS

(A)
(B) The system board
(C) The power supply (D) A battery

(E) None of these

Your computer is showing incorrect time every time
you restart the computer. This happens even after
you have set the computer time several times. What
needs to be done ?

(A) The CPU needs to be replaced.

(B) The UPS needs to be replaced.

(C) The battery needs to be replaced

(D) The operating system must be reloaded.

(E) None of these

Which of the following helps in keeping our
computer / CPU cool ?

(A) ACPU fan

(B) A heatsink

(C) Move the computer to a well ventilated
location

(D) All of these

(E) None of these

It is a computer bus which moves information
between the internal hardware of a computer sys-
tem (including the CPU and RAM) and peripheral
devices.

(A) Information Bus (B) Descend Bus
(C) Ascend Bus (D) Expansion bus
(E) None of these

Which of the following statements describe

Streaming ?

(A) Playing audio files on the internet.

(B) Buffering online data received using a codec
before playing a multimedia element such that
the multimedia can play uninterrupted.

(C) Reducing the load time of a web page by caching
online content on the disk.

(D) Breaking multimedia into packets before

sending it to a web server such that the clients
can view multimedia continuously.
(E) None of these
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What does the passive command provide to dynamic

routing protocols?

(A) Stops an interface from sending or receiving
periodic dynamic updates.

(B) Stops an interface from sending periodic
dynamic updates but not from receiving updates.

(C) Stops the router from receiving any dynamic
updates.

(D) Stops the router from sending any dynamic
updates.

(E) None of these

Thesaurus tool in MS Word is used for
(A)  Spelling suggestions

(B) Grammar options

(C) Synonyms and Antonyms words
(D) All of above

(E) None of these

A word processor would most likely be used to do
(A) Keep an account of money spent

(B) Do a computer search in media center

(C) Maintain an inventory

(D) Type a biography

(E) None of these

After typing header text, how can you quickly enter
footer text?

(A) Press Page Down key and type the text for footer

(B) Click on Switch between Header & Footer then
type the text

(C) Both of above

(D) All of these

(E) None of these

It is possible to
forming a merge.

a data source before per-

(A) Create

(B) Modify

(C) Sort

(D) All of these

(E) None of these




